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(ZORROFEA-1FH)
ek 0 =3 il 1 F il
HiH8 HEEAH | MEHE) | THREE | E=2ke) |HEFAR | MRHBE) | FHEKRE(E | Fsks
25 R5.11.20 2,000 38.7 77.4 - - -
R6.1.29 3,000 50.4 151.2 - - - -
1 R5.11.19 600 23.5 14.1 - - - -
= = R6.2.28 2,327 107.4 250.0 - - - -
e R6.3.22 2,380 105.0 250.0 - - - -
R5.10.18 1,500 18.0 30.0 - - - -
XiE R6.3.1 500 100.0 50.0 - - - -
R6.3.22 500 100.0 50.0 - - - -
)l e33R R6.3.16 1,000 100.0 100.0 - - - -
2 R5.12.8 2,500 21.8 54.5 - - - -
=5 R6.3.23 750 100.0 75.0 - - - -
= R5.11.2 2600 19.0 49.4 - - - -
BEBII R5.10.7 2,000 19.0 38.0 - - -
&t 21,657 1189.6 0 0.0
(FRO0FE&-1FH)
ek 0 =3 pil 1 =3 il
B8 HEEAH | MEHE) | THREE | E=2ke) |HEFAR | WREHE) | FHERE(R | Fsks
R5.11.20 3,500 43.4 151.9 - - - -
2zl R6.1.29 3,500 50.4 176.4 - - - -
R6.2.28 1,000 53.0 53.0 - - - -
il R6.3.2 2,150 37.2 80.0
1 R5.11.19 4,000 14.3 57.2 - - - -
= = R6.2.28 2,096 95.4 200.0 - - - -
AL R6.3.22 1,070 935 100.0 - - - -
R5.10.13 3,500 14.8 51.8 - - - -
XiE R6.3.1 2,000 66.5 133.0 - - - -
R6.3.22 2,000 57.0 114.0 - - - -
. R6.3.16 7,000 2.5 17.5 - - - -
)il £ R6.3.16 3,000 61.9 185.7 - - - -
HH)I R5.12.8 3,000 13.5 40.5 - - - -
=) R5.11.2 1,000 15.5 15.5 - - - -
2 R5.10.28 3,000 15.1 45.3 - - - -
#E R6.3.20 1,000 55.4 55.4 - - - -
FA]I R5.10.30 5,000 15.5 715 - - - -
BN R5.10.28 13,000 15.7 203.6 - - - -
=EEBIII R4.10.8 3,000 14.5 43.5 - - - -
R5.10.27 10,000 13.8 138.0 - - - -
B R6.2.23 4,000 57.0 228.0 - - - -
R6.3.15 4,000 51.8 207.2 - - - -
&t 81,816 2375.0 0 0.0
(A7 F0FE-1FH)
ek 0 =3 pil 1 =3 il
i HEEAH | MEHE) | THREE | E=2ke) |HEFAR | WRHBE) | FHERE( | Fsks
221 R5.11.20 1,600 48.0 76.8 - - - -
1 R5.11.19 3,000 18.0 54.0 - - - -
= = R6.2.28 909 110.0 100.0 - - - -
BRI LR R6.3.22 1,979 101.1 200.0 - - - -
X5 R5.10.18 800 17.0 13.6 - - - -
R6.3.1 200 75.0 15.0 - - - -
= R6.3.16 2,500 2.0 5.0 - - - -
il R6.3.16 1,500 67.3 100.9 - - - -
I R5.12.8 3,000 17.0 51.0 - - - -
2 R5.10.28 3,000 17.9 53.7 - - - -
2EI R6.3.20 1,000 63.6 63.6 - - - -
FA]I R5.10.30 2,000 17.9 35.8 - - - -
BEBIII R5.10.7 1,000 15.8 15.8 - - - -
AR R5.10.27 13,000 14.2 184.6 - - - -
2 R5.11.5 5,000 18.4 92.0 - - - -
&t 40,488 1,061.8 0 0.0
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